CHEMISTRY

BOOKS - ZEN CHEMISTRY (KANNADA
ENGLISH)

PERIODIC CLASSIFICATION OF
ELEMENTS

Activity 51


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Looking at its resemblance to alkali metals
and the halogen family, try to assign hydrogen
a correct position in Mendeleev's Periodic
Table. To which group and period should

hydrogen be assigned?

o Watch Video Solution

Activity 5 2


https://dl.doubtnut.com/l/_CZVTqJkqink6

1. Consider the isotopes of chlorine, Cl- 35 and
Cl-37. would you place them in different slots
becauses their atomic masses are different ?
Or would you place them in the same position
because their chemical properties are the

same?

° Watch Video Solution

Activity 53 |


https://dl.doubtnut.com/l/_7qK9jrt0P71v

1. How were the positions of cobalt and nickel

resolved in the Modern Periodic Table?

o Watch Video Solution

Activity 53 li

1.1s it possible to have an element with atomic

number 1.5 placed between hydrogen and

helium?

o Watch Video Solution



https://dl.doubtnut.com/l/_oHK5ok210uyg
https://dl.doubtnut.com/l/_wa3rWDNjcjsZ

Activity 5 3 lii

1. Where do you think should hydrogen be

placed in the Modern Periodic Table?

O Watch Video Solution

Activity 5 4 |


https://dl.doubtnut.com/l/_wa3rWDNjcjsZ
https://dl.doubtnut.com/l/_cr1eaAE1OQZ9

1. Look at group 1 of the Modern Periodic

Table, and name the elements present in it.

o Watch Video Solution

Activity 5 4 li

1. Write down the electronic configuration of

the first three elements of group |

° Watch Video Solution



https://dl.doubtnut.com/l/_5HQkRcoceH4V
https://dl.doubtnut.com/l/_TnMZhfbUUJQx

Activity 5 4 lii

1. What similarity do you find in their

electronic configurations of Li,Na ,K ?

o Watch Video Solution

Activity 54 Iv

1. How many valence electrons are present in

these three elements Li,Na ,K?

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_PGd17Y4c1UOz
https://dl.doubtnut.com/l/_ofSdRvSkqsf4

Activity 551

1. If you look at the long form of the Periodic
Table, you will find that the elements Li, Be, B,
C, N, O, F, and Ne are present in the second
period. Write down their electronic

configuration .

o Watch Video Solution



https://dl.doubtnut.com/l/_ofSdRvSkqsf4
https://dl.doubtnut.com/l/_uxrKlbyY6OTu

Activity 55 li

1. Do these elements also contain the same

number of valence electrons Li,Na, Mg ?

o Watch Video Solution

Activity 56 |

1. How do you calculate the valency of an

element from its electronic configuration?

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_Z0fwVk2ppJCd
https://dl.doubtnut.com/l/_VfdBosJQK9bI

Activity 5 6 li

1. What is the valency of magnesium with
atomic number 12 and sulphur with atomic

number 167

o Watch Video Solution

Activity 5 6 lii


https://dl.doubtnut.com/l/_VfdBosJQK9bI
https://dl.doubtnut.com/l/_S169PlUqyvHZ

1. Find out the valencies of the first twenty

elements .

° Watch Video Solution

Activity 56 Iv

1. How does the valency vary in a period on

going from left to right?

° Watch Video Solution



https://dl.doubtnut.com/l/_4CPug1yqMG68
https://dl.doubtnut.com/l/_yJ28rgB3KQFE

Activity 56V

1. How does the valency vary in going down a

group?

o Watch Video Solution

Activity 57 |

1. Atomic radii of the elements of the second

period are given below:

&2


https://dl.doubtnut.com/l/_dSCP5NwvefZt
https://dl.doubtnut.com/l/_J92yVzdLwP48

Arrange them in decreasing order of their

atomic radii.

° View Text Solution

Activity 5 7 li

1. Are the elements now arranged in the

pattern of a period in the Period Table?

o Watch Video Solution



https://dl.doubtnut.com/l/_J92yVzdLwP48
https://dl.doubtnut.com/l/_UrK6j0tBiXVy

Activity 5 7 lii

1. Which elements have the largest and the

smallest ?
2nd period elements : B Be O N Li F C
Atomic radii (pm) 88 111 66 74 152 64 77

° Watch Video Solution

Activity 57 Iv

1. How does the atomic radius change as you

go from left to right in a period ?


https://dl.doubtnut.com/l/_YeTsb8MHnRTK
https://dl.doubtnut.com/l/_knUrtwfntQN0

° Watch Video Solution

Activity 5 8 |

1. Study the variation in the atomic radii of

first group elements given below and arrange

them in an increasing order.

&2

o View Text Solution

Activity 5 8 li


https://dl.doubtnut.com/l/_knUrtwfntQN0
https://dl.doubtnut.com/l/_UVT7jMfLqyhF

1. Name the elements which have the smallest

and the largest atoms.

° Watch Video Solution

Activity 5 8 lii

1. How does the atomic size vary as you go

down a group ?

° Watch Video Solution



https://dl.doubtnut.com/l/_xCLwQQYkjzzs
https://dl.doubtnut.com/l/_lAHjwcVPsEMe

Activity 591

1. Examine elements of the third period and

classify them as metals and non-metals.

o Watch Video Solution

Activity 59 i

1.le

° View Text Solution



https://dl.doubtnut.com/l/_gWlKnznAJEfc
https://dl.doubtnut.com/l/_X3sfQpgOZQXg

Activity 5 9 lii

1. On which side of the periodic table do you

find (i) metals, (ii) non-metals ?

o Watch Video Solution

Activity 510 |

1. How would the tendency to gain electrons

change as you go down a group?

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_lKCLdzjlOUdq
https://dl.doubtnut.com/l/_XqCLKTyV78vK

Activity 510 li

1. How does this tendency(electropositivity)

change in a period?

° Watch Video Solution

Activity 5111


https://dl.doubtnut.com/l/_XqCLKTyV78vK
https://dl.doubtnut.com/l/_giL5Pc6n3ELi

1. How would the tendency to gain electrons
change as you go from left to right across a

peroid?

o Watch Video Solution

Activity 5 11 li

1. How would the tendency to gain electrons

change as you go down a group?

o Watch Video Solution



https://dl.doubtnut.com/l/_K6XiQ9zgSbmq
https://dl.doubtnut.com/l/_rPVMtFxN1oNt

Activity 5 5 lii

1. do they contain the same number of shells ?

2nd period elements : B Be O N Li F C
Atomic radii (pm) 88 111 66 74 152 64 77

° Watch Video Solution

Questions Section In Text Questions



https://dl.doubtnut.com/l/_rPVMtFxN1oNt
https://dl.doubtnut.com/l/_6iDzA7CkArPO

1. Did Dobereiner's triads also exist in the
columns of Newlands' octaves? Compare and

find out.

o Watch Video Solution

2. What were the limitations of Dobereiner's

classification?

o Watch Video Solution



https://dl.doubtnut.com/l/_EbkzxfGAGDOp
https://dl.doubtnut.com/l/_fX4mKiIecu0T

3. What were the limitations of Newlands' law

of Octaves ?

° Watch Video Solution

4. Use Mendeléer's Periodic Table to predict
the formulae for the oxides of the following

elements: K, C, Al, SI, and Ba.

° Watch Video Solution



https://dl.doubtnut.com/l/_HIAQICmxhMeo
https://dl.doubtnut.com/l/_p1nnX7Qh1Z3U

5.In Mendeleev's Periodic Table, gaps were left
for the elements to be discovered later. Which
of the following elements found a place in the

periodic table later ?

° Watch Video Solution

6. What were the criteria used by Mendeléey in

creating his Periodic Table?

o Watch Video Solution



https://dl.doubtnut.com/l/_vt48F9fJ5czq
https://dl.doubtnut.com/l/_TtN2lX85qeaJ
https://dl.doubtnut.com/l/_zTZ8HIxoG2XK

7.Why do you think the noble gases are placed

in a separate group?

° Watch Video Solution

8. How could the Modern Periodic Table

remove various anomalies of Mendeleev's

Periodic Table?

° Watch Video Solution



https://dl.doubtnut.com/l/_zTZ8HIxoG2XK
https://dl.doubtnut.com/l/_IZ3zficGSHhz

9. Name two elentents you would expect to
show chemical reactions similar to

magnesium. What is the basis for your choice?

o Watch Video Solution

10. Name:
a) three elements that have a single electron
in their outermost shells

b) two elements that have two electrons in


https://dl.doubtnut.com/l/_edVqxrtxSLr5
https://dl.doubtnut.com/l/_MoNMy1oagZQV

their outermost shells .

c) three elements with filled outermost shells

° Watch Video Solution

1. (a) Lithium, sodium, potassium are all
metals that react with water to liberate
hydrogen gas. Is there any similarly in the
atoms of these elements ?

(b) Helium is an unreactive gas and neon is a
gas of extremely low reactivity. What, if

anything, do their atoms have in common ?

| e |


https://dl.doubtnut.com/l/_MoNMy1oagZQV
https://dl.doubtnut.com/l/_RgN4Bq4XrU1d

& Wwatch Video Solution I

12. In the Modern Periodic Table, which are the

metals among the first ten elements?

o Watch Video Solution

13. By considering their position in the
Periodic Table, which one of the following
elements would you expect to have maximum

metallic charactcristics?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_RgN4Bq4XrU1d
https://dl.doubtnut.com/l/_v5WpNBwRHg9X
https://dl.doubtnut.com/l/_hXnbmXUJYjZA

Questions Section Textual Questions

1. Which of the following statements is not a
correct statement about tbe trends when
going from left to right across the periods of

periodic Table?

A. The elements become less metallic in

nature


https://dl.doubtnut.com/l/_hXnbmXUJYjZA
https://dl.doubtnut.com/l/_EXm4FGApyq9l

B.The number of valence electrons

increases

C.The atoms lose their electrons more

easily

D. The oxides become more acidic

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_EXm4FGApyq9l

2. Element X forms a chloride with the formula
XCI, which is a solid with a high melting
point. X would most likely be in the same

group of the periodic table as

B. Mg
C. Al

D. Si

Answer: B

‘ ° Wiak hh \AAA CAaliikianm



https://dl.doubtnut.com/l/_gCg58fIYgh40

YVOILLIL VI INAGINIE L J

3. Which element has:

a] two shells, each completely filled with
electrons?

b] the electron configuration 2, 8, 2?

c] three shells, with four electrons in the
valence shell?

d] two shells, with three electrons in its
valence shell?

e] twice as many electrons in its second shell

as in its first shell?

| €8 I


https://dl.doubtnut.com/l/_gCg58fIYgh40
https://dl.doubtnut.com/l/_CuRZigkWr5HB

L ' Watch Video Solution J

4. a) What property do all elements in the
same column of the periodic table as boron
share?

b) What property do all elements in the same
column of the periodic table as fluorine

share?

o Watch Video Solution



https://dl.doubtnut.com/l/_CuRZigkWr5HB
https://dl.doubtnut.com/l/_nB8RSdfDKzjo

5. An atom has the electronic configuration 2,
8, 7.

a] What is the atomic number of this element?
b] To which of the following elements would it
be chemically similar? (Atomic numbers are

given in parenthesis) N (7), F (9), P (15), Ar (18)

o Watch Video Solution

6. The position of three elements A, B and C in

the periodic Table is shown below:


https://dl.doubtnut.com/l/_LfMOHkDlT4h0
https://dl.doubtnut.com/l/_wDLSJwcbccH5

(a) State whether A is a metal or non-metal

(b) State whether C is more reactive or less
reactive than A

() Will C be larger or smaller in size than B?
(d) Which type of ion, cation or anion, will be

formed by element C?

° Watch Video Solution



https://dl.doubtnut.com/l/_wDLSJwcbccH5

7. Nitrogen (atomic number 7) and
phosphorous (atomic number 15) belong to
group 15 of the periodic table. Write the
electron configurations of these two elements.

Which of these is more electronegative?

o Watch Video Solution

8. How does the electronic configuration of an
element relate to its position in the modern

periodic table?



https://dl.doubtnut.com/l/_pj14g6HrxWsj
https://dl.doubtnut.com/l/_ClQeOTHioxUo

\ ° Watch Video Solution

9. In the modern periodic table, calcium
(atomic number 20) is surrounded by
elements with atomic numbers 12, 19, 21, and
38. Which of these have physical and chemical

properties resembling calcium?

° Watch Video Solution



https://dl.doubtnut.com/l/_ClQeOTHioxUo
https://dl.doubtnut.com/l/_HDIwGVmBxzrs

10. Compare and contrast the arrangement of
elements in Mendeleev's periodic table and

the Modern Periodic Table.

o Watch Video Solution

Zee Additional Questions Sections Multiple

Choice Questions

1. Which of the following statements about

the Modern Periodic Table is correct?


https://dl.doubtnut.com/l/_1ntAPhYjMpxM
https://dl.doubtnut.com/l/_5x4wsFSuGmnv

A.It has 18 horizontal

periods.

rows known

B.It has 7 vertical columns known

periods.

C. It has 18 vertical columns known

groups.

D.It has 7 horizontal

groups.

Answer: C

rows known

as

as

as

as

o Watch Video Solution



https://dl.doubtnut.com/l/_5x4wsFSuGmnv

2. Where would you locate the element with

electronic configuration 2, 8 in the Modern

Periodic Table?

A. Group 8

B. Group 2

C. Group 18

D. Group 10

Answer: C

I a Watch Video Solution


https://dl.doubtnut.com/l/_5x4wsFSuGmnv
https://dl.doubtnut.com/l/_tDRF3Bktdad2

3. Which of the following is the outermost

shell for elements of period 2?7

A. Kshell

B. L shell

C. M shell

D. N shell

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_tDRF3Bktdad2
https://dl.doubtnut.com/l/_lVPkqdd2zUMb

4. Which of the following elements would lose

an electron easily?

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lVPkqdd2zUMb
https://dl.doubtnut.com/l/_5qXaAbJt5Yw6

5. Which of the following elements does not

lose an electron easily?

A. Na

B.F

C. Mg

D. Al

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NOGw1sh57unc
https://dl.doubtnut.com/l/_Qeko5CPsNd7X

6. Arrange the following elements in the order

of their decreasing metallic character: Na, Si,

Cl, Mg, Al

A.Cl gt Si gt Al gt Mg gt Na

B. Na gt Mg gt Al gt Si gt ClI

C.Na gt Al gt Mg gt Cl gt Si

D. Al gt Na gt Si gt Ca gt Mg

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Qeko5CPsNd7X
https://dl.doubtnut.com/l/_aVwybqAa5uDy

7. What type of oxide would eka-aluminium

form?

A. EO;

B. B30,

C. B,04

D. EO

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aVwybqAa5uDy

8. Three elements B, Si and Ge are

A. Metals

B. Non-metals

C. Metalloids

D. Metal, non-metal, and metalloid

respectively

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_JdUU9FAqmeFD
https://dl.doubtnut.com/l/_BGrjWyRUEoJJ

9. Which one of the following does not

increase while moving down a group of the

periodic table?

A. Atomic radius

B. Metallic character

C. Valence electrons

D. Number of shells in an element

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_BGrjWyRUEoJJ
https://dl.doubtnut.com/l/_Nl264gJfUyC4

10. Element with atomic number 18 belongs to

A. 2nd period, 8th group

B. 3rd period, 8th group

C. 2nd period, 18th group

D. 3rd period, 18th group

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Nl264gJfUyC4

11. The number of valence electrons present in

the 12th element of any period is

A. 12

B.2

C.6

D.O

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fSVRuagxRHCU
https://dl.doubtnut.com/l/_qkyDRiEy6j4x

12. The valency of any element of group 18 is

A.18

B.8

C.0

D. None of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_qkyDRiEy6j4x

13. Which of the following properties is not a

periodic property?

A. Melting point

B. Atomic radius

C. Electronegativity

D. Valency

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HD5EDPR7VCtF
https://dl.doubtnut.com/l/_Qpiz801yjf52

14. In the Modern Periodic Table, element

helium is placed at the

A. top left corner

B. bottom left corner

C. top right corner

D. bottom right corner

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Qpiz801yjf52

15. The first three periods are

A.long periods

B. short periods

C. moderate periods

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_t8x0v4omrrVC

16. Which element was not known when

Mendeleev framed the periodic table?

A. Germanium

B. Silicon

C. Uranium

D. Sulphur

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IydI0WYzU2ba
https://dl.doubtnut.com/l/_er4qHnATZpEp

17. Chemical properties of elements depend on

A. their atomic mass

B. their valence-shell electronic

configuration

C. their electronic configuration

D. none of above

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_er4qHnATZpEp

18. Which of the following properties of the

elements can't be predicted from their

position in the periodic table?

A. The formula of its oxides

B. The charge on its ions

C. The number of isotopes

D. Metallic character

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IHZHyNqEKEHr

19. Non-metals usually form

A. Acidic oxides
B. Basic oxides
C. Neutral oxides

D. Both acidic and basic oxides

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_qFDp9pZNDrjR

20. In the Modern Periodic Table, elements

with similar valenceshell configuration are

placed in

A.same group

B. different groups

C. same period

D. none of above

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GUdbg5xRhtx6

21. Elements in the same group of the periodic

table have the same

A. atomic number

B. number of electron shells

C. number of valence electrons

D. atomic mass

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_eKVi5UzST2XT
https://dl.doubtnut.com/l/_RzhOmARTrTOu

22. Which of the following always increases

down a group?

A. Metallic character

B. Non-metallic character

C. Electronegativity

D. Acidic nature of oxides

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RzhOmARTrTOu

23. Which of the following always decreases

down a group?

A. Metallic character

B. Non-metallic character

C. Chemical reactivity

D. Atomic size

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6XT4ZTw37O7N
https://dl.doubtnut.com/l/_SyhxNIXWnddv

24. Which parameter decreases as we move

from left to right along a period?

A. metallic character

B. valence electrons

C. electronegativity

D. electron shells

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_SyhxNIXWnddv

25. The number of valence electrons in an

element belonging to period 3 and group 2 of

the Modern Periodic Table is

Al

B.2

C.3

D. 4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_nBw4Mxddi7HX

26. The period and group number of an

element with atomic number 7 are

A 23

B.2,4

C.2,5

D. 2,15

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_yEI83uLsAKsL
https://dl.doubtnut.com/l/_uWAaM5NQx8lp

27. The number of which of the following

atomic particles plays a major role in

classification of elements in the Modern

Periodic Table?

A. neutron

B. electron

C. proton

D. all of the these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uWAaM5NQx8lp

28. The longest period in the Modern Periodic

Table is the

A. Third period

B. Fourth period

C. Fifth period

D. Sixth period

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_uWAaM5NQx8lp
https://dl.doubtnut.com/l/_1So1ac0lkBJd

29. Group | elements in the Modern Periodic

Table are known as

A. alkali metals

B. alkaline earth-metals

C. halogens

D. noble gases

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0Me0hMpXR4g9
https://dl.doubtnut.com/l/_GMHtdcCVlZPz

30. The most reactive element of all the

elements is

A. Fluorine

B. Chlorine

C. Carbon

D. Hydrogen

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GMHtdcCVlZPz

31. According to Newlands' law of octaves, the

number of elements between two similar

elements is

A.6

B.7

C.8

D. none

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oqmCILJ0bYot

32. Halogens are present in which group of the

Modern Periodic Table?

A. 1st

B. 12th

C.17th

D. 18th

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZP2iZA930aWK
https://dl.doubtnut.com/l/_qUNFtH8EEVrb

33.The 18th group of elements in the periodic

table is called

A. alkali metals

B. alkaline earth-metals

C. halogens

D. noble gases

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_qUNFtH8EEVrb

34. The electronic configuration of element x is
2, 8, 8, 1 and the electronic configuration of
element Y is 2, 8, 7. Them the type of bond
formed between these two element is

A. covalent bond

B. hydrogen bond

C. mettalic bond

D. ionic bond

Answer: D

I ° Wiak hh \tAAA CAaliikianm



https://dl.doubtnut.com/l/_6tTvpxTxnukE

VVCILLIL VI INAGINIE L J

35. The number of groups and periods in the

modern periodic table respectively, are

A.7 and 9

B.18 and 7

C.7 and 18

D.9and 7

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6tTvpxTxnukE
https://dl.doubtnut.com/l/_HskXc9wHV2bX

Zee Additional Questions Sections Very Short

Answer Vsa Type Questions

1. In a triad of three elements A, B, and C, the
atomic mass of A and B are 80 and 120
respectively. Find the atomic mass of element

C.

o Watch Video Solution



https://dl.doubtnut.com/l/_HskXc9wHV2bX
https://dl.doubtnut.com/l/_zpqUMkPnsIsr

2. According to Newlands' classification of
elements, the properties of element B are
similar to element A.

() How many elements are there between A
and B?

(i) Starting from A, what is the position of B?

o Watch Video Solution

3. Out of Dobereiner's triads and Newlands'

octaves, which classification is better? Why?

| & I


https://dl.doubtnut.com/l/_IvI5ZfZrpuoT
https://dl.doubtnut.com/l/_wRKc9eHZnNAe

| ¥ Watch Video Solution |

4. State the Modern Periodic law. What is the

Modern Periodic Table called?

o Watch Video Solution

5. Define group and period with reference to

the Modern Periodic Table.

o Watch Video Solution



https://dl.doubtnut.com/l/_wRKc9eHZnNAe
https://dl.doubtnut.com/l/_70r5NHStWiZ0
https://dl.doubtnut.com/l/_lcBbhfGTGU38
https://dl.doubtnut.com/l/_QX9cp7sXgM5b

6. Compare and contrast the arrangement of
elements in Mendeleev's periodic table and

the Modern Periodic Table.

o Watch Video Solution

7. How were transition elements placed in O
Mendeleev's Periodic Table and (ii) Modern

Periodic Table?

o Watch Video Solution



https://dl.doubtnut.com/l/_QX9cp7sXgM5b
https://dl.doubtnut.com/l/_pHZfjOPUlBrJ

8. How do transition elements differ from

other elements?

° Watch Video Solution

9, State the Modern Periodic law. Where are

metals and nonmetals found in the Modern

Periodic Table?

° Watch Video Solution



https://dl.doubtnut.com/l/_I9wPzH3m2lHy
https://dl.doubtnut.com/l/_QY6uGFzEH3PH

10. Write the atomic numbers of two elements
X and Y having electronic configuration 2, 8, 2

and 2, 8, 6 respectively.

o Watch Video Solution

1. Account for the following: Elements of

group 17 are monovalent.

° Watch Video Solution



https://dl.doubtnut.com/l/_d0gckO7UM3gX
https://dl.doubtnut.com/l/_KCtnr0Ghmnne

12. Account for the following: Elements of

group 18 are zerovalent.

° Watch Video Solution

13. Elements A, B, C, and D have atomic
numbers 1, 8, 11, and 19 respectively. Choose
the odd element and give reason for your

answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_X3W7kji75iJn
https://dl.doubtnut.com/l/_BLktsX2Y2ilt
https://dl.doubtnut.com/l/_XB6aRTUXn0ar

14. Out of the two elements X and Y which has
a bigger atomic radius?

(i) X has atomic number = 18 and atomic mass
= 40.

(i1) Y has atomic number = 20 and atomic mass

=40.

o Watch Video Solution

15. Out of the two elements, potassium and
sodium, which one can lose electrons easily?

Give reason for your answer.


https://dl.doubtnut.com/l/_XB6aRTUXn0ar
https://dl.doubtnut.com/l/_WNQL4ABZy0qq

° Watch Video Solution

16. Mention the type of compounds formed

between group 1and group 17 elements.

o Watch Video Solution

17. Write the number of vertical columns in the

periodic table. What are these columns called?

° Watch Video Solution



https://dl.doubtnut.com/l/_WNQL4ABZy0qq
https://dl.doubtnut.com/l/_FWvXKDh8PrhH
https://dl.doubtnut.com/l/_RVf1vR7LHbsQ
https://dl.doubtnut.com/l/_FZNjb8XmrJ4p

18. Write the number of horizontal rows in the

modern periodic table. What are these rows

called ?

° Watch Video Solution

19. Predict the maximum number of valence
electrons possible for atoms in the first period

of the periodic table.

° Watch Video Solution



https://dl.doubtnut.com/l/_FZNjb8XmrJ4p
https://dl.doubtnut.com/l/_MwOY6HUo64Nk
https://dl.doubtnut.com/l/_aKQjEQT3zCb3

20. What is the nature of oxides formed by

most of p - block elements ?

o Watch Video Solution

21. Explain the acidic character of oxide of

elements down a group and across a period.

° Watch Video Solution

22. Why hydrogen should be placed in group |

?


https://dl.doubtnut.com/l/_aKQjEQT3zCb3
https://dl.doubtnut.com/l/_CilnSDK7CuUX
https://dl.doubtnut.com/l/_ZcYLsbV4WlES

° Watch Video Solution

23. Out of Li and K which has strong metallic

character?

o Watch Video Solution

24. List any two properties of the elements
belonging to the first group modern periodic

table.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZcYLsbV4WlES
https://dl.doubtnut.com/l/_dZDcEg4fp0LX
https://dl.doubtnut.com/l/_TGdDClsfg2Jk

25. Write the formula used to determine the

maximum numbers of electrons which a shell

in an atom can accommodate.

o Watch Video Solution

26. Name the element and its valency which is

having electronic configuration 2, 8, 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_TGdDClsfg2Jk
https://dl.doubtnut.com/l/_qpJ0dbDpyA7o
https://dl.doubtnut.com/l/_F3BqjyK9kt3Z
https://dl.doubtnut.com/l/_gepMLt0MeMUt

27. Lithium, sodium and potassium form a
Dobereiner's triad. The atomic masses of
lithium and potassium are 7 and 39

respectively. Predict the atomic mass of

sodium.

° Watch Video Solution

28. What do you mean by valency?

° Watch Video Solution



https://dl.doubtnut.com/l/_gepMLt0MeMUt
https://dl.doubtnut.com/l/_J9mJV6IOS6K0

29. Sodium and potassium are placed in the
same group of modern periodic table. If the
molecular formula of sodium sulphate is Na,
So, then decide the molecular formula of
potassium sulphate. Give reason for your

answer.

° Watch Video Solution

Zee Additional Questions Sections Short Answer

Sa Type Questions



https://dl.doubtnut.com/l/_YVowXNdVbXtP

1. Elements have been arranged in the
following sequence on the basis of their
increasing atomic masses: F, Na, Mg, Al, Si, P, S,
Cl, Ar, K.

a] Pick two sets of elements which have similar
properties.

b) The given sequence represents which law of

classification of elements?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ng7N31bbVWv7

2. Write the formulae of chlorides of Eka-
silicon and Eka-aluminium, the elements

predicted by Mendeleev.

o Watch Video Solution

3. Arrange the following elements in

increasing order of their atomic radii:

a|Li, Be, F, N  b|Cl, At, Br,1

o Watch Video Solution



https://dl.doubtnut.com/l/_McvAhd2SxIRq
https://dl.doubtnut.com/l/_DOwcFRnNDUP5
https://dl.doubtnut.com/l/_NRn0ykKoyX3w

4. Identify and name the metals out of the
following  elements  whose  electronic
configurations are given below.

a) 2,8,2 b] 2,8, c] 2,8,7 d] 2,1

° Watch Video Solution

5. Mention any two demerits of the long form

of the periodic table.

o Watch Video Solution



https://dl.doubtnut.com/l/_NRn0ykKoyX3w
https://dl.doubtnut.com/l/_3IIxNokLgBvd
https://dl.doubtnut.com/l/_sIMLo57NLswM

6. Why is hydrogen placed separately on the

top left corner of the Modern Periodic Table?

o Watch Video Solution

7.Why did the law of triads fail?

o Watch Video Solution

8. Mention the merits of Newlands' law of

octaves.

o Watch Video Solution



https://dl.doubtnut.com/l/_sIMLo57NLswM
https://dl.doubtnut.com/l/_la4ESDriQJ3d
https://dl.doubtnut.com/l/_9SBjkZ73YWhw

9. What were the limitations of Newlands' law

of Octaves ?

o Watch Video Solution

10. Why do all elements of the same group

have similar properties?

o Watch Video Solution



https://dl.doubtnut.com/l/_9SBjkZ73YWhw
https://dl.doubtnut.com/l/_l3dsxRzrUJbY
https://dl.doubtnut.com/l/_F7XIwnfRqlsw

11. The atomic numbers of three elements A, B,
and Care 12, 18, and 20 respectively. State,
giving reason, which two elements show

similar properties.

o Watch Video Solution

12. Taking the example of an element of atomic
number 16, explain how the electronic
configuration of the atom of an element

relates to its position in the Modern Periodic


https://dl.doubtnut.com/l/_3LB9UUfzrrdy
https://dl.doubtnut.com/l/_8hlelyj2uF00

Table and how valency of an element is

calculated on the basis of its atomic number.

° Watch Video Solution

13. The electronic configuration of an element
X' is 2, 8, 8, 2. To which (a) period and (b)
group of the Modern Periodic Table does 'X'
belong? State its valency. Justify your answer

in each case.

° Watch Video Solution



https://dl.doubtnut.com/l/_8hlelyj2uF00
https://dl.doubtnut.com/l/_GGVZcE3T4aWK
https://dl.doubtnut.com/l/_9tnrWTq1aHBk

14. All the members of group | are metals. Li
and Na react with water rapidly whereas K, Rb,
and Cs react vigourously. Write the electronic
configuration of Li and K and find their valency
from the given information. Infer the change
in reactivity in a group given atomic numbers

of Li and K are 3 and 19 respectively.

° Watch Video Solution

15. Atomic number is considered to be a more

appropriate parameter than atomic mass for


https://dl.doubtnut.com/l/_9tnrWTq1aHBk
https://dl.doubtnut.com/l/_qdWnwrGgYFzG

classification of elements in a periodic table.

Why?

° Watch Video Solution

16. How does the electronegativity changes as

we move from left to right across a period ?

o Watch Video Solution

17. How would the tendency to gain electrons

change as you go from left to right across a


https://dl.doubtnut.com/l/_qdWnwrGgYFzG
https://dl.doubtnut.com/l/_cPltJrr0N1We
https://dl.doubtnut.com/l/_nFDhFF23iOgE

peroid?

o Watch Video Solution

18. a) How does electropositivity of elements
get affected as we move: (i) down a group (ii)
across a period?

b] Which atomic property increases as we

move across a period and down a group?

o Watch Video Solution



https://dl.doubtnut.com/l/_nFDhFF23iOgE
https://dl.doubtnut.com/l/_6qMZBLhYYqkX

19. Why are metals electropositive and non-
metals electronegative in nature? lllustrate by
giving an example of each. Why does metallic

character of elements increase down a group?

o Watch Video Solution

20. Name three elements with seven valence
electrons in their outermost shell. How do
their non-metallic character and atomic size

change down the group?

| I


https://dl.doubtnut.com/l/_mWAsBfMMQalx
https://dl.doubtnut.com/l/_saJGYhcC4NZN

| ¥ Watch Video Solution |

21. Inert gases are placed in a separate group
in the Modern Periodic Table

a) State the group number.

b) How many valence electrons do most of
them have?

c) Why are they unreactive?

d) Name any two inert gases.

o Watch Video Solution



https://dl.doubtnut.com/l/_saJGYhcC4NZN
https://dl.doubtnut.com/l/_ZNpXibGGUmqD

22. a] What are metalloids? Write any two
examples.

b] Given below are some of the elements of
the first group: Li, Na, K (their atomic numbers
are 3, 11, and 19 respectively and they belong
to 2nd, 3rd, and 4th period respectively).
Arrange them in the decreasing order of their

metallic character.

o Watch Video Solution



https://dl.doubtnut.com/l/_GDJoBGDTfSza

23. a] Write the trend of atomic size and
metallic character along a group and a period
in the Modern Periodic Table.

b]"Elements in the periodic table show
periodicity of properties." List any four such

properties.

o Watch Video Solution

24. a] Name the element with atomic number

17.


https://dl.doubtnut.com/l/_S6LB29MuaLFJ
https://dl.doubtnut.com/l/_atw84sS2gQm3

b]To which period does it belong?
c]To which group does it belong?

d]Write its electronic configuration.

o Watch Video Solution

25. Draw a part of the long form of the
periodic table showing a non-metal
surrounded by non-metals from all the four

sides.

° Watch Video Solution



https://dl.doubtnut.com/l/_atw84sS2gQm3
https://dl.doubtnut.com/l/_Taar9tj2JRWI
https://dl.doubtnut.com/l/_Z3JyjVYRNuVy

26. (i) Predict which of the following elements
will form cation and will form anions ?

(i) Na, (ii) Al, (iii) Cl, (iv) O.

(i) Name two elements that are inert in

nature.

O Watch Video Solution

27. Write the name, symbol and electronic
configuration of an element X whose atomic

number is 11.

l O Watch Video Solution


https://dl.doubtnut.com/l/_Z3JyjVYRNuVy
https://dl.doubtnut.com/l/_TUPjQHL6Q5GV

28. The electronic configuration of an element
is 2, 8, 4. State its
i] Group and period in the periodic table

ii] Name and write its one physical property.

° Watch Video Solution

29. Can the following groups of elements be

classified as Dobereiner's Triads.

i] Na, Si, ii] Be, Mg, Ca


https://dl.doubtnut.com/l/_TUPjQHL6Q5GV
https://dl.doubtnut.com/l/_aoih4K0ZBi8P
https://dl.doubtnut.com/l/_Hoi4PR3MPubu

A — micmassofBe - 9. Na - 23, Mg -24, Si - 28,

Cl - 35, Ca - 40." Justify your answer.

° Watch Video Solution

30. An element 'X' has atomic number 13.
a] Write its electronic configuration.

b] State the group to which 'X' belongs.
c] Is 'X' a metal or non metal?

d] Write the formula of its bromide.

° Watch Video Solution



https://dl.doubtnut.com/l/_Hoi4PR3MPubu
https://dl.doubtnut.com/l/_zwJOlSpH5qvV
https://dl.doubtnut.com/l/_zzTy4YXmlCj3

31. Choose from the following

6C, 30, 10Ne, 11Na, 14Si

a] Elements that should be in the same period
b] elements that should be in the same group

State reason for your selection in each case.

o Watch Video Solution

32. How does the valency of elements vary
a) in going down a group
b) in going from left to right in a period of the

periodic table.


https://dl.doubtnut.com/l/_zzTy4YXmlCj3
https://dl.doubtnut.com/l/_ZjpLabvCdcN6

° Watch Video Solution

33. How would the tendency to lose electrons
change as you go
i] from left to right across a period

ii] down a group

o Watch Video Solution

34. i] Atomic radius of hydrogen is 37 pm.

Express it in metres.


https://dl.doubtnut.com/l/_ZjpLabvCdcN6
https://dl.doubtnut.com/l/_N6DF2cFd34K7
https://dl.doubtnut.com/l/_vheFIJfxMVHk

ii] How does atomic size vary in a group and in

a period.

° Watch Video Solution

35. Arrange the following elements in the
descending order of atomic size and give a
reason for your answer. Mg, Cl, P. Ar Atomic

number of elements is 12, 17, 15, 18.

o Watch Video Solution



https://dl.doubtnut.com/l/_vheFIJfxMVHk
https://dl.doubtnut.com/l/_JPNIPTG9ghD6

36. The position of elements A, B, C, D in the
modern periodic table is given in the following
table. Answer the following questions by

observing the table:

Group1l Group 2
Period3 A B
Period4 C D

i] Which element has the highest atomic size?
Why?
ii] Which element has the least metallic

property? Why?

o Watch Video Solution



https://dl.doubtnut.com/l/_MvO1rYZHvb99
https://dl.doubtnut.com/l/_dhpPBW0xRjbA

37. ‘Hydrogen occupies a unique position in
the Modern Periodic Table. Justify the

statement.

o Watch Video Solution

38. Write the formula of the product formed
when the element A (atomic number 19)
combines with the element B (atomic number
17). Draw its electron-dot structure. What is

the nature of the bond formed?

l ﬂ Watch Video Solution l


https://dl.doubtnut.com/l/_dhpPBW0xRjbA
https://dl.doubtnut.com/l/_KVoVirTVHTkj

39. a) Discuss any two achievements of the
Modern Periodic Table.

b) Discuss any two limitations of Mendeleev's
classification.

c) How were these removed in the Modern

Periodic Table?

° Watch Video Solution



https://dl.doubtnut.com/l/_KVoVirTVHTkj
https://dl.doubtnut.com/l/_MGO0bDnYuKnh

40. a] Why are sodium and chlorine placed in
the same period in the Modern Periodic Table?
b] Why do elements placed in the same group
of the periodic table have similar chemical
properties?

c] Who proposed the modern periodic law? On

which fundamental property of an atom is it

based?

o Watch Video Solution



https://dl.doubtnut.com/l/_dDanP8UdWNq1

41. What is the basis of the Modern Periodic
Table? Why lithium with atomic number 3 and
potassium with atomic number 19 placed in
group one? What are the atomic numbers of

the first two elements in the second group?

o Watch Video Solution

42. a] Mention the relative position of metals,
non-metals, and metalloids in group 13-16 of

the periodic table.


https://dl.doubtnut.com/l/_inPSz0Xpfo6H
https://dl.doubtnut.com/l/_9uFaYEiTtulI

b] Classify the following elements as metals,
non-metals, and metalloids.

(i) Calcium (ii) Sulphur (iii) Selenium

o Watch Video Solution

43. The elements Be, Mg, and 20Ca each having
two valence electrons in their valence shells
are in periods 2, 3, and 4 respectively of the
Modern Periodic Table. Answer the following
questions associated with these elements,

giving reason in each case.


https://dl.doubtnut.com/l/_9uFaYEiTtulI
https://dl.doubtnut.com/l/_rdj4LwnNTZ6p

a] In which group should they be?
b] Which one of these is least reactive?
c] Which one of them has the largest atomic

size?

o Watch Video Solution

44, Based on the group valency of elements
state the formula for the following giving
justification for each:

i] Oxides of Ist group elements,

ii] Halides of the elements of group 13, and


https://dl.doubtnut.com/l/_rdj4LwnNTZ6p
https://dl.doubtnut.com/l/_92LmgH0Ctzkc

iii] Compounds formed when an element of

group 2 combines with elements of group 16 .

° Watch Video Solution

45, State three reasons for placing chlorine
and bromine in the same group of the

periodic table.

° Watch Video Solution



https://dl.doubtnut.com/l/_92LmgH0Ctzkc
https://dl.doubtnut.com/l/_F0eyF0IS84Y1

46. Atoms of seven elements A, B,C, D, E, F, and
Ghave different number of electron shells but
have the same number of electrons in the
outermost shells. How do the following

properties vary as we move from A to G? (i)

o Watch Video Solution

47. The positions of A, B, C, D, E, F, and in the

Modern Periodic Table are given under:


https://dl.doubtnut.com/l/_VPNUI6F2KbWu
https://dl.doubtnut.com/l/_ZI96kB064MdR

a] List the inert elements.

b] What type of ions would B, C, E, and F form?
c) Which element ould have chemical
properties similar to C?

d] How many shells would A have?

e] What is the similarity between A and D?

f] Identify the most abundant element in the

earth's crust.

o View Text Solution



https://dl.doubtnut.com/l/_ZI96kB064MdR

48. Consider the part of the periodic table
given below and answer the following

questions.

i) The atom of which element is smaller in
size? e or h.

i) Which element is most lectropositive in
nature?

i) Which element has only one proton in its
atom?

iv) What is the valency of g?


https://dl.doubtnut.com/l/_IfWPPcdbO70u

v) How many valence electrons does g have?

vi) Name the element which is a metallold.

° View Text Solution

49. An element Y has three shells with four
electrons in the valence shell. Another element
X has twice as many electrons in its second
shell as in its first shell. i] Identify the elements
X and Y. ii] Is there any similarity between the

element Y and X? If so, what?

° Watch Video Solution



https://dl.doubtnut.com/l/_IfWPPcdbO70u
https://dl.doubtnut.com/l/_9Uhmu9em4jWC

50. Lithium is an alkali metal with atomic
number = 3 and number of valence electrons =
1. The formula of the hydride of lithium is LiH.
Boron and carbon are placed in group 13 and
14 respectively with valence electrons 3 and 4.
Write the formulae of the hydrides of boron

and carbon giving a reason for your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_9Uhmu9em4jWC
https://dl.doubtnut.com/l/_gLTqHRM4CYKX

51. An element X (atomic number 17) reacts
with an element Y (atomic number 20) to form
a Compound.

iJWrite the position of these elements in the
Modern Periodic Table

ii] Which one is a metal and which one is a
non-metal?

iii] Write the formula of the compound.

o Watch Video Solution



https://dl.doubtnut.com/l/_IwEZvLatjLad

52. An element P (atomic number 20) reacts
with an element Q (atomic number 17) to form
a compound. Answer the following questions
giving reason:

Write the position of P and Q in the Modern
Periodic Table and the molecular formula of

the compound formed when P reacts with Q.

o Watch Video Solution



https://dl.doubtnut.com/l/_hAV5mp184pzr

53. Arrange giving reason the following
elements in the increasing order of their
atomic size:

a) Be, O, F (Given that they belong to 2nd, 8th,
and 9th groups and 2nd period respectively)
b) I, Cl, F (Given that they belong to 5th, 3rd,
and 2nd period respectively in the same
group)

c) Mg, N, P (Given that Mg and P belong to 2nd
and 15th group respectively of 3rd period and

N belongs to 15th group of 2nd period)

° Watch Video Solution



https://dl.doubtnut.com/l/_MIAdin20HYr8

54. The electrons in the atoms of four
elements A, B, C, and D are distributed in three
shells having 13,5, and 7 electrons in their
outermost shell respectively. State one period
in which these elements can be placed in the
Modern Periodic Table. Write the electronic
configuration of the atoms A and D and
molecular formula of the compound when A

and D combine.

o Watch Video Solution



https://dl.doubtnut.com/l/_MIAdin20HYr8
https://dl.doubtnut.com/l/_48QuB56VddmH

55. Justify the following statements:

a) Cations are smaller in size than the
corresponding atom.

b) Size of the atom increases as we move
down a group.

c) Atomic size decreases as we move across a

period.

o Watch Video Solution



https://dl.doubtnut.com/l/_IEAr38shdGMZ

56. Give reasons for the following:

a] Metals have a tendency to form cations.

b] Fluorine atom is smaller than chlorine
atom.

c] Non-metals have a tendency to gain

electrons.

o Watch Video Solution

57. Given below are some elements of the

Modern Periodic Table:


https://dl.doubtnut.com/l/_d7hbwh2DK0IU
https://dl.doubtnut.com/l/_tyVWQzBOax5h

4Be, o Fe. 145, 19Ko5Ca

i) Select the element that has one electron in
the outermost shell and write its electronic
configuration.

i) Select two elements that belong to the
same group. Give reason.

i) Select two elements that belong to the
same period. Which one of the two has a

bigger atomic size?

o Watch Video Solution



https://dl.doubtnut.com/l/_tyVWQzBOax5h

58. An element M with electronic configuration
(2,8, 2) combines separately with
(NO5) %, (804)° and (PO,)°~ radicals.
Write the formula of the three compounds so
formed. To which group and period of the
Modern Periodic Table does the element
Mbelong? Does M form covalent or ionic

compounds? Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_CevVfCe3JUsH

59. Na, Mg, and Al are the elements of the 3rd
period of the Modern Periodic Table having
group number 1, 2, and 13 respectively. Which
one of these elements has the a) highest
valency, (b) largest atomic radius, and (c)

maximum chemical reactivity?

o Watch Video Solution

60. An element 'X' belongs to the 3rd period

and group 16 of the Modern Periodic Table.


https://dl.doubtnut.com/l/_WcQJhb9lyzyM
https://dl.doubtnut.com/l/_PSIyFYKddDMw

a) Determine the number of valence electrons
and the valency of 'X'.

b] Write the molecular formula of the
compound when X reacts with hydrogen and
write its electron-dot structure.

c] Name the element X and state whether it is

metallic or non-metallic

o Watch Video Solution

61. An element A reacts with oxygen to form

A20.


https://dl.doubtnut.com/l/_PSIyFYKddDMw
https://dl.doubtnut.com/l/_wHnmRu523Bhu

i] State the number of electrons in the
outermost orbit of A.

ii] To which group of the periodic table does A
belong?

iii] State whether A is a metal or a non-metal.

o Watch Video Solution

62. An element has same number of electrons
in I and IV shells and in the Il and Il shells

i] Write its electronic configuration


https://dl.doubtnut.com/l/_wHnmRu523Bhu
https://dl.doubtnut.com/l/_RTU9vkySf1Z6

ii] Write the group and period it belong

iii] What is the valency of the element

° Watch Video Solution

63. i] An element X has both K and L shells
completely filled with electrons. The element
has atomic number 10. Identify the element X.
ii] In which group of the periodic table this
element is placed? iii)) Write its electronic

configuration. What is its valency?.

° Watch Video Solution



https://dl.doubtnut.com/l/_RTU9vkySf1Z6
https://dl.doubtnut.com/l/_6sPiXhJIQKNN

64. From the part of the periodic table answer
the following questions.
.

i] Atomic number of oxygen is 8 what would
be the atomic number of Fluorine.
ii] Out of 'X' and 'Q' which element has larger
atomic size? Give reason for your answer.

iii) Out of Y and Z which element has smaller

atomic size? Give reason for your answer.

o View Text Solution



https://dl.doubtnut.com/l/_6sPiXhJIQKNN
https://dl.doubtnut.com/l/_fwmwHJImdjKN
https://dl.doubtnut.com/l/_Q5jX0m2XTlIi

65. An element X placed in 2nd group and 4th
period of periodic table burns in the presence
of oxygen to form a basic oxide

I) Identify the element

i) Write its electronic configuration

iil) Write a balanced equation for the reaction

when this oxide is dissolved in water

o Watch Video Solution

66. The position of three elements A, B and C

in the periodic table is shown below


https://dl.doubtnut.com/l/_Q5jX0m2XTlIi
https://dl.doubtnut.com/l/_XacjZDBxqHB2

Give reason and explain

i] Element A is a metal

ii] Element B has larger atomic size than the
element C

iii] Element C has a valency of 1.

o View Text Solution

67. An element X has mass number 35 and
number of neutrons = 18. Write atomic number

and electronic configuration of X. Also write


https://dl.doubtnut.com/l/_XacjZDBxqHB2
https://dl.doubtnut.com/l/_WXmfnYYLHKtB

group number, period number and valency of

X.

° Watch Video Solution

68. Observe the given table and question:

answer the following

Elements A B C D FE
Atomicnumber 11 4 2 7 19

Identify the two elements that belong to the
same period and the two elements that
belong to the same group. Give reason for

your conclusion.



https://dl.doubtnut.com/l/_WXmfnYYLHKtB
https://dl.doubtnut.com/l/_57YXygJ2TNqT

I O Watch Video Solution

69. The atomic numbers of two elements are 8
and 16 respectively. Write the electronic
configuration of these two elements. Do you
keep these two elements in the same group of
the modern periodic table? Justify your
answer. Find out which of these two elements
is more electronegative. Give reason for your

answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_57YXygJ2TNqT
https://dl.doubtnut.com/l/_oBrya9PfkClS

Zee Additional Questions Sections Long Answer

La Type Questions

1. Mendeleev predicted the existence of certain
elements not known at that time and named
two of them as Eka-silicon and Eka-aluminium.

a] Name the elements which have taken the
place of these elements.

b] Mention the group and the period of these
elements in the Modern Periodic Table.

c] Classify these elements as metals, non-

metals, or metalloids.


https://dl.doubtnut.com/l/_sdf5huBrrxxI

d] How many valence electrons are present in

each?

° Watch Video Solution

2. Which group of elements could be placed in
Mendeleev's periodic table without disturbing

the original order? Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_sdf5huBrrxxI
https://dl.doubtnut.com/l/_c4Dsx7gAW5OF

3. Give an account of the process adopted by
Mendeleev for the classification of elements.

How did he arrive at "periodic law"?

o Watch Video Solution

4. The elements of a period of the periodic
table are given below in order, from left to
right, with one of its elements missing

Li Be B C 0 F Ne

i] To which period does these elements


https://dl.doubtnut.com/l/_3EObmYo7BZ6c
https://dl.doubtnut.com/l/_04OKJ0srebqr

belong?

ii] One element of this period is missing.
Which is the missing element and where
should it be placed?

iii] Which one of these elements in the period
shows property of catenation?

iv] Which one of the above belongs to the
halogen series?

v] Identify the noble gas.

o Watch Video Solution



https://dl.doubtnut.com/l/_04OKJ0srebqr

5. What is meant by a group in the Modern
Periodic Table? How do the following change
on moving from top to bottom in a group?

i] Number of valence electrons

ii] Number of occupied shells

iii] Size of atoms

iv] Metallic character of elements

v] Effective nuclear charge experienced by

valence electrons

o Watch Video Solution



https://dl.doubtnut.com/l/_W15L94zo7Vqo
https://dl.doubtnut.com/l/_spoYQgfFfi0Z

6. Study the following table in which the
positions of six elements A, B, C, D, E, and F are
shown as they are in the Modern Periodic

Table:

On the basis of the above table, answer the
following questions:

i] Name the element which forms only
covalent compounds.

ii] Name the element which is a metal with
valency three.

iiil Name the element which is a non-metal

with the valency three.


https://dl.doubtnut.com/l/_spoYQgfFfi0Z

iv] Out of D and E, which is bigger in size and
why?
v] Write the common name for the family to

which the elements C and F belong.

° View Text Solution

Zee Additional Questions Sections Higher Order

Thinking Skills Hots

1. An element becomes another element if the

number of


https://dl.doubtnut.com/l/_spoYQgfFfi0Z
https://dl.doubtnut.com/l/_yS3Xw7e6HeZJ

A. protons changes

B. neutrons changes

C. electrons changes

D. Protons, neutrons, and electrons does

not change

Answer: A

° Watch Video Solution

2. Elements in the same period may have


https://dl.doubtnut.com/l/_yS3Xw7e6HeZJ
https://dl.doubtnut.com/l/_c9sVjMzO5PzU

A. different number of neutrons

B. same number of shells

C. different number of electrons

D. all of these

Answer: D

o Watch Video Solution

3. In a Dobereiner's triad consisting of three
elements A, B, and C, the sum of atomic

masses of A and B is 115 and the average of


https://dl.doubtnut.com/l/_c9sVjMzO5PzU
https://dl.doubtnut.com/l/_9oVQrvjmRzpk

atomic masses A and C is 81. Find the atomic
mass of A, B, and C. Predict the names of these

elements.

° Watch Video Solution

4. Elements A, B, C, D, E, F, G, H, |, ] and have
atomic masses 13, 3, 97, 25, 7, 35, 9, 30, 50, and
19 respectively. According to law of octaves,
which elements would have similar properties?

Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_9oVQrvjmRzpk
https://dl.doubtnut.com/l/_ody044FV6por

5. An element X has mass number 35 and
number of neutrons = 18. Write atomic number
and electronic configuration of X. Also write
group number, period number and valency of

X.

o Watch Video Solution

6. Properties of the elements are given below.
Where would you locate the following

elements in the periodic table?


https://dl.doubtnut.com/l/_ody044FV6por
https://dl.doubtnut.com/l/_VsNrYJDyITQq
https://dl.doubtnut.com/l/_OYsVytSygqu5

a] A soft metal stored under kerosene.

b] An element with variable (more than one)
valency stored under water.

c] An element which is tetravalent and forms
the basis of organic chemistry

d] An element which is an inert gas with
atomic number 2.

e] An element whose thin oxide layer is used
to make other elements corrosion resistant by

the process of "anodising".

o Watch Video Solution



https://dl.doubtnut.com/l/_OYsVytSygqu5
https://dl.doubtnut.com/l/_pEtJVwGHoN9V

7. Locate the position in the periodic table of
the following elements on the basis of their
properties:

a] An element is an inert gas with atomic
number 10.

b] An element is tetravalent and a basic
element of organic chemistry

c] A soft metal stored under kerosene that can

be cut with knife.

o Watch Video Solution



https://dl.doubtnut.com/l/_pEtJVwGHoN9V

8. Two elements 'P' and 'Q' belong to the same
period of the modern periodic table and are in
Group -1 and Group -2 respectively. Compare
their following characteristics in tabular form:

(i) The number of electrons in their atoms

(ii) The sizes of their atoms

(iii) Their metallic characters

(iv) Their tendencies to lose electrons

(v) The formula of their oxides

(vi) The formula of their chlorides

o Watch Video Solution



https://dl.doubtnut.com/l/_64zQULugkmrB

9. Three elements P, Q, and R have successive
atomic numbers with same period . IfP>R > Q
in terms atomic size. Predict the group of each

element. Give reason.

° Watch Video Solution

1. The electronic configuration , group number

and period number of an element with atomic


https://dl.doubtnut.com/l/_sbTNGGy34y3A
https://dl.doubtnut.com/l/_3bhZtNTFK3Gq

number 10 is

o Watch Video Solution

2. to find electronic configuration , group
number and period number of an element
from its atomic number

potassium atomic number 19

° Watch Video Solution



https://dl.doubtnut.com/l/_3bhZtNTFK3Gq
https://dl.doubtnut.com/l/_X9x4LjrmGBig

